
Randolph Dining Table

ASSEMBLY INSTRUCTIONS

Version 1.0

1 of 6



ASSEMBLY INSTRUCTIONS

Read these instructions carefully and keep for future 
reference. Refer to parts inventory for guidance, and 
ensure you have all pieces before starting. When 
assembling, place all parts on a soft, clean, and flat 
surface such as a carpet to prevent scratches.

HARDWARE  INVENTORY
DESCRIPTIONIMAGEID QTY

ALLEN BOLT

ALLEN BOLT

A 8

1

1

1

1

3

5

TOP

LARGE POST

FEET

DESCRIPTIONID QTY

PARTS  INVENTORY

2 of 6

1

2

1

2

4

6

MOUNTING PANEL

SMALL POST

FEET

FLAT WASHER

B

D

16

24

LOCK WASHER

ALLEN WRENCH

LEVEL GUIDE

C

E

F

24

1

4

SIZE

M8 x 70mm

M8 x 40mm

19 x 09mm

12 x 09mm

5 x 110mm

M8  x 35mm

2 of 6 MADE IN VIETNAM 

 

 

 

ASSEMBLY INSTRUCTIONS 
 

Read these instructions carefully and keep for future 
reference. Refer to parts inventory for guidance, and 
ensure you have all pieces before starting. When 
assembling, place all parts on a soft, clean, and flat 
surface such as a carpet to prevent scratches. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

 

 

 

 

 
   
  

HARDWARE INVENTORY 
ID IMAGE DESCRIPTION SIZE QTY 

A 
 

 
ALLEN BOLT M8 x 70mm 8 

B 
 

 ALLEN BOLT M8 x 40mm 16 

C 
 

LOCK WASHER 12 x 09mm 24 

D 
 

FLAT WASHER 19 x 09mm 24 

E 
 

ALLEN WRENCH 5 x 110mm 1 

F 
 

LEVELING GLIDE M8 x 35mm 4 

PARTS INVENTORY 
ID DESCRIPTION QTY 

1 TOP 1 

2 MOUNTING PANEL 1 

3 LARGE POST 1 

4 
 
SMALL POST 2 

5 FEET 1 

6 FEET 1 1

2
4

4
3

5
6

1

2

5
6

3
4

4



3 of 6

STEP 1

Place the SMALL POST (4) onto the LARGE POST (3), making sure the SMALL POST (4) and LARGE POST (3)
are perpendicular and tight.

3 of 6 MADE IN VIETNAM 

 

 

 
STEP 1 
Place the SMALL POST (4) onto the LARGE POST (3), making sure the SMALL POST (4)  and LARGE POST (3) 
are perpendicular and tight. 

 

3

4

4

 
    
  

3

4

4



4 of 6

STEP 2

Place the FEET (5) onto the SMALL POST (4), making sure the bolt holes are aligned. Place the FEET (6) 
onto the FEET (5) and LARGE POST (3), making sure the bolt holes are aligned. Slide LOCK WASHER 
(C), and then FLAT WASHER (D) onto ALLEN BOLT (A). Ensure the bolt holes on the FEET (5) match up 
with the SMALL POST (4) and FEET (6) match up with the LARGE POST (3), and attach using ALLEN 
WRENCH (E), to screw in ALLEN BOLT (A). Please press SMALL POST (4) and LARGE POST (3) tightly 
before tightening the ALLEN BOLT (A). Repeat this for all remaining bolts.

4 of 6 MADE IN VIETNAM 

 

 

 
STEP 2 
Place the FEET (5) onto the SMALL POST (4), making sure the bolt holes are aligned. Place the FEET (6) onto  
the FEET (5) and LARGE POST (3), making sure the bolt holes are aligned. Slide C, lock washer, and then D, flat 
washer onto A, Allen bolt. Ensure the bolt holes on the FEET (5) match up with the SMALL POST (4) and FEET (6) 
match up with the LARGE POST (3), and attach using E, Allen wrench, to screw in A, Allen bolt.  
Please press SMALL POST (4) and LARGE POST (3) tightly before tightening the A, Allen bolt. 
Repeat this for all remaining bolts. 
 

x8

A
E

D
C

5

6

4

4

3
 

 
   
 
 

5

4

4

3

6

X8
D

C

A

E



5 of 6

STEP 3

Place the MOUNTING PANEL (2) onto the POST (3) (4), making sure the bolt holes are aligned. Slide 
LOCK WASHER (C), and then FLAT WASHER (D) onto ALLEN BOLT (B). Ensure the bolt holes on the 
MOUNTING PANEL (2) match up with the POST (3) (4) and attach using ALLEN WRENCH (E), to screw in 
ALLEN BOLT (B). Repeat this for all remaining bolts. 

5 of 6 MADE IN VIETNAM 

 

 

 
STEP 3 
Place the MOUNTING PANEL (2) onto the POST (3) (4), making sure the bolt holes are aligned. Slide C, lock washer, 
and then D, flat washer onto B, Allen bolt. Ensure the bolt holes on the MOUNTING PANEL (2) match up with  
the POST (3) (4) and attach using E, Allen wrench, to screw in B, Allen bolt.  
Repeat this for all remaining bolts. 
 
 

x8

2

B
E

D
C

4
4
3

 
 
   
  

X8 D
C
B

E

4
4

3

2



6 of 6

STEP 4

STEP 5

Place the TOP (1) onto the MOUNTING PANEL (2), making sure the bolt holes are aligned. Slide LOCK 
WASHER (C), and then FLAT WASHER (D) onto ALLEN BOLT (B). Ensure the bolt holes on the MOUNTING 
PANEL (2) match up with  the TOP (1) and attach using ALLEN WRENCH (E), to screw in ALLEN BOLT (B).  
Repeat this for all remaining bolts. 

The LEVELING GLIDE (F) is located at the bottom of the base, so when you place the furniture in the right 
position, you can adjust the LEVELING GLIDES depending on the surface. Make sure it is level and stable.
Once your table is level, the assembly is complete.

6 of 6 MADE IN VIETNAM 

 

 

 
STEP 4 
Place the TOP (1) onto the MOUNTING PANEL (2), making sure the bolt holes are aligned. Slide C, lock washer, and 
then D, flat washer onto B, Allen bolt. Ensure the bolt holes on the MOUNTING PANEL (2) match up with  
the TOP (1) and attach using E, Allen wrench, to screw in B, Allen bolt.  
Repeat this for all remaining bolts. 

 

x8

1

2

B
E

D
C

 
STEP 5 
The LEVELING GLIDE (F) is located at the bottom of the base, so when you place the furniture in the right position, you 
can adjust the LEVELING GLIDES depending on the surface. Make sure it is level and stable.  
Once your table is level, the assembly is complete. 
 

F

 

6 of 6 MADE IN VIETNAM 

 

 

 
STEP 4 
Place the TOP (1) onto the MOUNTING PANEL (2), making sure the bolt holes are aligned. Slide C, lock washer, and 
then D, flat washer onto B, Allen bolt. Ensure the bolt holes on the MOUNTING PANEL (2) match up with  
the TOP (1) and attach using E, Allen wrench, to screw in B, Allen bolt.  
Repeat this for all remaining bolts. 

 

x8

1

2

B
E

D
C

 
STEP 5 
The LEVELING GLIDE (F) is located at the bottom of the base, so when you place the furniture in the right position, you 
can adjust the LEVELING GLIDES depending on the surface. Make sure it is level and stable.  
Once your table is level, the assembly is complete. 
 

F

 

2

1

X8
D
C
B

E

F


